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. Linda / Caroline

. Harry/Ted

. James/Ian

% Choose the correct sentence for each picture.

Caroline is taller than Linda
Linda is taller than Caroline

Everest/Kilimanjaro
Everest is higher than Kilimanjaro.
Kilimanjaro is higher than Everest.

Harry is faster than Ted.
Ted is faster than Harry.

Sophia/Tara
Sophia is more fashionable than Tara.
Tara is more fashionable than Sophia.

James is better at maths than Ian.
Ian is better at maths than James.

+» Compare these 3 men by using the adjectives

7all / thin / happy / short / handsome / fat /ugly / sad

++» Read the situations and build a sentence.

a) Jane is 26 years old. Ben is 30. ( young )

b) The Hilton Hotel is expensive. The Holiday Inn is not as expensive. ( cheap )

c) Lisbon is a large city. London is larger. ( small )

d) A snail is slow. A rabbit isn’t as slow. ( fast )
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